Week 13 Wednesday
April 3, 2019 7:41 AM
-Tf?\' Jomormon

63-6b, 6.8, F1-73
Su33 Ww and Pada Problems

T4 Thg ldenkhes  Gat'd

Ex: Shew that  C5¢® - seco

Lt 9
|
cscd = \Sine Rewnte in | j
cet© (s derms of Sin® Gnd &S8O
sNnQ
= N‘_ w ST
Sy Co$ @
= _
&S 9

4+ SinG_ = d_-_(:s_‘@ (59 & SN0 . (ng)
sind |-co5 0 sin®  (Casy (F@3) Gagy

] Grmmeon dﬁl\om(nwlqd

= d-c,ggs_-\— Sh\?'Q é—exfw\o\
sind (1-Cs9)

|
= 1-2050 +&s9 +50°9)

sing (1-c59)

(f

2- 2659 — Hackr
Sing (l‘Cofg)

2 (4=C=59)

sin® (1=Gs&>~

= 2

(¢

—_—

sin g

= 20508 /



Ex: Prove Hhol  Sec®-Tand = G5 9

(+sing
Cos® _ 59 . (I=5n9)
|+5in0 (vsin®)  (I-sin9)

M\;H\'P\\/ \)o() CN\A \boucy\n s07 ‘«SMQ
"Dl Qﬂ-}ugmtt & lsing'

_ ¢go (-5ing)

|~sin @ -
Sin9 +Gs =)
5t¢ = |-sin'®
_ Tsse.(1-5in8)
X Cos®
= ' _ sin®

Cm Cos ©
= Secd — Tan0 /

va has q/w S

Fackr
Qﬂuﬂ'\}& in Yo 0# ssng OV\O( &9

C—O ™M Anan d‘&f\nmi/\ I\

M\AH\'P\7 \0\1 Cpr\jmsd-e,

LW —



Hﬁ \/o\,\ See \ iCoSG) M\)\\\'()\xl \lo() (w}\ boLlw loJ | TG

¥ sin &
| - sind

3.5 Sum and D"H‘(/‘(/\u, Tﬁfmw\aS

qjafm“\o\ S\r\%‘\':
A< Pt (L®)
hop(1+ 5 ¥
TWo -Lni) \Qfmv\\o\s (S’S)
A=cQ (ChF, F47)

Last hoo (Cw13)
:
Sin (di’/j,) = S‘nr\oLCoYﬁ + CoSom

Cos (oL 2p) = CoSel B T sinasinf
X, A Q/‘\/ U\AJ}C 2

Cos (lo°+ 3S°) = 050 335" = Sinlo’sin 35"

Ex: Fnd exack Valies
a) Gos IS°

11S™= 60 437 |

|-sin @

J+sing



—
—

=
—

—
—

{

Cos (60°-4Y°)
Cos 60° Cos 45° 4 Sin 60" sin 4§

(«

T
- = > R
= —‘%—: + ‘L_g- \E 3\ & ‘j\f\r{
o |
_ 4% 76\ ,
G S
s Y§'= S
b) Sin®S° s IS® - s sin 1° o5
Snk Cos 5 — CoSat Sn /b A= 15
Sin ((X‘ﬂ\
Sin 60°
\F

——
—r

—

2



